Lesson 2.3: Polynomial Division
(Long Division and Synthetic Division)



Long Division

Using long division to divide polynomials is very similar to using long
division to divide two numbers.
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Synthetic Division

*Note: Long Division can be used in all polynomial division.

Synthetic division can only be used when dividing by x+c or x-c
(where c represents a constant). ZeYo: - L[

*@S:r +ax +1) + @+ 4)
X X <

5
‘“G\)@C)

G c P~
2 N
|X _\..\)L-i- X+Y




— 2x2—1)+@+1)

3
2
X X x C

x"l
<) 5
L &7"6 —; O #\
-3 3
__57r v
%b 7 7 -%7 A

X -G +3%X - + ﬁl




(x3 —=5x+7) + (x — 2)
_2_:( |\ ©o -5 7
+ 2 H -1
\ 2 - s

) 5
X -1-'2>§ "l@”—\jv‘



